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' (A) F4d (B)

(C) HTA=2 1o (D) TTA=2
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa 7
(A) Colonel (B) Major (C) Sergeant Major (D) Sergeant
o AW dw fem R .
(A) 3UEHR T (B) fafywm ©) W E - (D) ferrm i
‘Barren’ Island is situaled in
(A) Andaman (B) Minicoy

(C) Lakshadweep (D) Nicobar
3 #&mmmmaﬁl&mmmmﬁtﬁagmm ?

(A) 16 37T 1947 (B) 26 === 1946

(C) 09 fewat 1946 (D) 26 SFaft 1947 .

When was the first session of Constitutional Assembly held 7

(A) 16™ August 1947

(B) 26" November 1946
(C) 09" December 1946

(D) 26™ January 1947
4 Wﬁmmmﬁmmmmﬁﬁﬁﬁ‘émﬁ%
(B) ¥ 3m 37wy

€ fiamatwm (p HAT U uy
The memory of the computer which is programmed at the {;

me of its manufacturing is called as
(A) ROM * (B) EPROM (C) PROM (D) RAM
5. FH-H WdE wE, 2024 1 5, 20 €1 Flg 1 A Yoo arftet w0 are) WA e
FI0H 79 T '
(A) Femm = s - v (B) HEHI Yotz
(C) va.di.ug 1. d% (D) ¥1.41 vy, .
EEEEI Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh
El::-" Crore in 2024 7
(A) Reliance Industries (B) Adani Enterprises
(C) HOFC Bank - —(D) T.C.S.
6. mﬁﬁmﬁwﬁwﬁmwmmmm

tA}\{fﬂé\quﬁiaﬁ@m?ﬁﬁm - (B) Wit &g Ffw Wty 1 Fsframon
(C) Tl T=mi =1 Uremnted w1 (D) 319 geafa =1 gamEn =
The primary objective of land reform in India implemented in the Post Independence was
(A) Redistribution of land to landless farmer

(B) Privatization of agricultural land for cultivation
(C) Promotion of agro industries

(D) To promote real estate
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What are the major uses of Big Data Analytics in governance 7
a. Tracking the spread of diseasns,
b. Predicting election oulcomes,
c. Enhancing cyber secunty.
d. Increasing govl. tax revenue.

Choose the correct answer from the code given below :

Code : .
(A) a.b, conly (B) b,donly “  (C) c,bonly (D) a,c,d only
8. mmmmmmﬁvWM% ?
() Fm .  (B) aFm (C) =TFHA (D) wfi
Nagaur is famous for the production of which aromatic crop ?
(A) Cumin seeds (B) Conander (C) Garlic (D) Fenugreek

0. frtafma 4 & 13 w8 31 fodar 2024 7F T 79E 2 7
a. =MET =A@ FIETTY
b. TTHTZ HA ”

¢. =143 A

d. Wnﬁum :
#af?vma@nnu@mghv
F2: *

(A) F4 a #T b {B)i}‘:maamc
(C) a,b,c AT d. (D) %4 b, ¢ 3 d

Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland .

d. Sultanpur National Park \

E$E
r37ht
0]
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the correct answer from the c?de given below :

a and b only (B) aandconly (C) a,b,candd (D) b,candd only
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(A) TPTE A T e 4
(C) WeATI" (IREILEL O}
17 o

Which ono of the following is not an Artiticial Intelligence(Al) tool EI{”’Q

(B) Chat GPT

(A) Google Play Slorn
(D) Gemini

(C) Clauda

11, wafea miaam 4 waupvn 4 3fa 7:,‘1 - »
(A) smferm 1 (B) FATzeE fehmrem 1

(C) HFA 5 sritfa if - (D) W 4

The concept of Public Interest Litigation was originated in
(A) Australia (B) United Kingdom (U.K.)

(C) United States of America (D) India

12. 2 g ¥ il 4 v ) #iFem (A) a9 gH H FO (R) HET TR |
AT (A) V.30 35100, v S et 2 o e AR 36 fren qarem 3
EDISIiﬂIrfafmzn [

I (R) : VA 3978, AU, 1 Fevy fafirsy maevs) & YR 9T YA W 3=+ foreq
HEAH 1 (e 3 aneef] qeuies e w2 |

A1 feu e & W 3w gfo
+Z ;
(A) (A) 31 {Hjammﬁaﬁxfﬂj.m)?ﬁﬂzﬁa:r@mzﬁfm&
(B) (A) e ? 90 (R) Hey 2 |
(C) (A) & 2 9T (R) TTe1d 2
(D) (A) 30 (R) 21 6% 8 0 () , (A) ) T samem e o 2
Given below are two statement ,one i i
%E,E' Assertlon (A) : The NIRF is a rznk?:gt:a?e"ed :'15 et i e
iy : stem introduced b ini i
EI{’%‘ obia 201 y the Ministry of Education, Gov. of
Reason (R) : NIRF aims to provide a fajr and transparent assessment of higher education institutior
across India based on various parameters.

b

Select the correct answer from the code given below :
Code ;

(A) Both (A) and (R) are true and (R)
(B) (A)is false but (R) is true

(C) (A)is true but (R) is false

(D) Both (A) and (R) are true but (R) s not the correct EXplanation of (A
n of (A)

is the correct explanation of (A)
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13. |
(A) Than (©) wifibw el
(C) #mT DI (D) @M f

b ":‘,';}

Which one of the following Is not a source of informal agency of education ? (=%
(A) The family (B8) Religious institutions
(C) General games (D) The community

ya, fam e 1wl v vl et s a3 e frem R o7

(A) wam wfE (B) frarft =y e
(C) e sfireta (D) VR wafEa

In which inscription both Kalidas and Bharavi are mentioned by their names ?

(A) Prayag Prashasti (B) Bhitari Pillar Inscription

(C) Ayodhya Inscription (D) Aihole Prashasti

15. 3@ 9iEa fem ad wrew e g
In which year was the UTSAV portal launched ?

(A) 2024 (B) 2022 . (C) 2020 (D) 2023
16. 9@ JreA H wwa # fava A a-mwm g 7 |

(A) W (8) 734 _ (© 7 (o) fadfm

%‘\"‘-‘1‘ What is the rank of India in the world in rice production ? I

(A) 1¢ . (B) 4n ‘ (C) 3d (D) 2nd
17. Fafafea 3§ & #1521 wgum w1 o @ 7 * .

(A) 3T (B) Fm (C) uftrg—ami - (D) TRrET

Which of the following is the cause of soil pollution ?

(A) Ozone | (B) Smog (C) Acid-rain (D) Aerosol
18. = g wfawifea s dis sewat § frafafas 4 4 @9 ek w9 2

(A) a1y , @Rl () fw@mm (D) srgwEm

Which of the following Is not included in the cognitive educational objective proposed by Bloom »

(A) Comprehension (B) Organization (C) Analysis . (D) Application

-
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Ramsar sitos and nameo ol slnlons palrod bolow, Choono the corroct palr,

Ramsar Site Stnto
1. Sakya Sagn Madhyn Praddash
2. Shpur Wolland = Trpurn
J. Pala Welland = Maoghalaya
4. Sur Sarovar = Uttar Privclosh
(AY Y and 2 aro corroct (B) 2 and 4 aro corroct
(C) 2 and 3 are corroct (D) 1.and 4 aro corroct

20. Al -1 @) el =0 iy Tiﬂfﬂﬂ Wb i & 04 fao o i 0k T '*[f«?”, |

e -1 -

(an Frvafaenem) (vam)
a. Tellae waa favalaener . Il
b. Al wpures i ra fagafaerer I, IEERT
c. adar el aa favafaenen . faemg
d. . Hgeerere wmb gaa fgaliemen v, &g
T : /
(A) a=IV,b=Illbe=IlLd=1 - B) a~-IV,b-1l,e=1,d=1
) a-Ib-lLe-IV,d-1l D) a=, b=, c-IV,d=1
Match List - | with List = Il and solect the correct answor from tho codo given below the lists.
List -1 List -1l
E]ﬁ[il (Open Unlversity) (Placoe)
m{;):q: a. Global Open Univorsity I. Kola
Rikie b. Notaji Subhashchandra Boso Il. Kolkata
Open Univorsity
c. Vardhman Mahavoor I, Bilaspur
Opon Univorsily
d. Pl Sundarlal Sharmn V. Dimapur
Open Univorsity
Code :
(A) a-IV,b=1lll,c—Il,d~I B) a-IV,b-1ll,c-1,d-
(C)a-=I,b=lc=IV,d=-1 D) a=l,b=1l,c-1vV,d-1|
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In which year Atomic Energy Institute. Trombay was established ?
(A) 1948 - (B) 1954
(C) 1952 (D) 1950

22. W@ ¥ wfaum i fafafaa & 2 adq-m W=D aurh wAfwn § et 2
(A) =T 324 - (B) 3=z 327

(C) =32 326 (D) =2 325
Which one of the following Articles of Constitution of Indi
(A) Anricle 324
(C) Atticle 326

a deals with adult suffrage ?

(B) Adicle 327
(D) Article 325
23. =1 %1 vF g # Wy | 9E w0k wEfeud fifw |
|. I FET o =
n. my fafyg
. Y & I
V. 3rfwel =1 |us
14 fau v g2 6 & ¥ I 9fi
C A
(A) 1, 11, IV, Il
(C) I, 1,1V, 1

(B) Luuniv

(D) 1, IV, 1, 1l
25

5 "!1 Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research

Ill. Objective of research

IV. Data collection

Choose the correct answer from the code given below :

Code :
(A) 1,01V, 1l (8) L, 1,n, v
(C) I, 1,1V, 1 (D) I, Iv, 1
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a. nfag iz | e itk ST fom

b. o amd 1, @ gaRirda s @i

c. ) 1fy 0 @ EREe 2T

d. . v, spmia V. % u ) e

e

(A a=Lb=lll,e=1l,d- v
C) a=1,b=IV,c~1 d-1

B) a-IV,b-1,c-ll,d=1l

Oy a-m,b=N,c=Ld=IV !

Match List - | with List — 1 and select the correct answer from the code given below the lists.

List =1
(Author) (Book)
- Arwind Adiga

a
b. Kiran Desai

List -1

I. The God of Small Things
Il. The Inheritance of Loss
IIl. The White Tiger
IV. In a Free State

o

. Arundhati Roy
. V. S. Naipaul

=1

Code:
(A) a=Lb=lil,c=Il,d=1v

(B) a=IV,b—1,c~Ill,d—1l
(C) a=Il,b=1V,c—1,d-

(D) a=ll,b=Wl,c=1,d -1V

25. “fafeas =" wm 2

(A) THH T T (B) IeESH aA T

(C) 9 =3 a=1 = IE r
_— (D) df =t =
;EI 2% “Limbic system” is part of

(A) Reproductive system (B) Excretory system
(C) Digestive system (D) Nervous system -

26. ‘" fRE amm O faed wh o ¢

(A) T (8) %

In which language was '‘Babarnama’ written 9
(A) Persian (B) Urdu

(C) 3wh () T -

(C) Arabic (D) Turkish
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o7 oA st (py) whm fam v owa A ormiaa aft R

(A) MTAvaTEa T o fsfwam rnm
(€) wraza fafauim (D) TR | N g A
PLI schema is not related 10 which one of the following ?
(A) Automaobile industry (B Madical deviens
(C) Mobile manufacturing ! (D) MNone of the above
og  MTA w1 wren qawars wfas e wmf. wafra fRa e @,‘Eﬂ
.7

(A) 31 fawra 2024

(B) 24 373 2024 -

(C) 04 famar 2024

(D) 04 fzzrar 2024

India’s first reusable hybrid rocket Rhumi-1 was launched on
(A) December 31, 2024

(B) August 24, 2024

(C) September 04, 2024

(D) December 04, 2024

29 frfafaa § & FR-11 v w7 HLA, wonefl w1 oaeE TE 2 7
(A) BTEaT (B) AramizF A (C) H= (D) HIFZAT

%6
5%@ Which of the following is not a component of an ICT systern ?
L] @
(A) Hardware , (B) Biometric sensors  (C) Information (D) Software

30, TN A qreR A e dvea fefatea 1 f eh-m R e
(A) sfuaTfE w6 el & wEm e AretEd S .
@) fz=h & =fagi =1 quma g
(C) WA T AT i 1 T &
(D) iUt Fral 4 S w1 wreAniEd wE
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work

D) To encourage English in official work
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S1 Ans.(C)
S2 Ans.(A)
S$3 Ans.(C)
S4 Ans.(A)
S5 Ans.(A)
S6 Ans.(A)
S7 Ans.(D)
S8 Ans.(D)
S9 Ans.(B)
$10 Ans.(A)
S$11 Ans.(C)
$12 Ans.(D)
S$13 Ans.(B)
S$14 Ans.(D)
$15 Ans.(B)
$16 Ans.(D)
$17 Ans.(C)
$18 Ans.(B)
$19 Ans.(D)
$20 Ans.(B)
$21 Ans.(B)
$22 Ans.(C)
S$23 Ans.(B)
S$24 Ans.(D)
$25 Ans.(D)
$26 Ans.(D)
$27 Ans.(D)
$28 Ans.(B)
$29 Ans.(C)
S$30 Ans.(A)
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